Economics 101

Answer key to Homework #2

Fall 2006

1.

a. F.  A higher relative price means a higher opportunity cost for production of that good.

b. F.  Maximum(Minimum

c. F.  The equilibrium price can change if there are changes that result in shifts in the demand and/or supply curves.

2.

a. The supply curve shifts to the left.  The equilibrium price increases, and the equilibrium quantity decreases.

b. The supply curve shifts to the right.  The equilibrium price decreases, and the equilibrium quantity increases.

c. The demand curve shifts to the left.  The equilibrium price decreases, and the equilibrium quantity decreases.

3.

      a. p* = 8, q* = 6

      b. New supply curve: p = q+4. New equilibrium price and quantity p* = 8.5, q* = 4.5. The price changes by $0.50

c. The slope of the demand curve represents how sensitive (responsive) consumers are to price changes.  In this case, the consumption of oil is insensitive to price changes compared to chocolate.  Oil is a “necessity” so people don’t reduce their consumption of oil very much when the price of oil rises. Chocolate, on the other hand, is less of a necessity so that when the price of chocolate rises, holding everything else constant, people decrease their consumption of chocolate.

d. p* = 8, q*= 6

e. New equilibrium price and quantity p*= 40/7, q*= 68/7

            The price changes by approximately  $1.70.

f. The change in the equilibrium price is larger in the oil market than in the chocolate market, even though the equation representing the supply curve, the initial equilibrium price & quantity, and the magnitude of the shift of the supply curve are all the same in these two markets.  Notice that the change in the equilibrium quantity is smaller in the oil market than in the chocolate market.  In the oil market, consumers are more reluctant to reduce their consumption compared to consumers in the chocolate market for the reason stated in part (3).  But due to the supply shock, the producers would produce much less than before at the same price, and hence we need a higher price to induce producers to keep producing the large amount. 

4.

a. p* = $5per taxi ride , q* = 10 million taxi rides

b. Producer’s surplus: $25 million. Consumer’s surplus: $25 million. The total surplus of the market: $50 million

c. p(consumer) = $6 per taxi ride, p(producers) = $4 per taxi ride, quota rent = $2 per taxi ride. Drivers are wiling to pay up to $2 per taxi ride to purchase the right to operate a taxicab (this figure corresponds to the difference between p(consumer) and p(producer)).  

d. Producer’s surplus: $16 million. Consumer’s surplus: $16 million. Total quota rent: $16 million (quota rent per ride times the quantity sold and bought). The total surplus of the market: $48 million. 

This policy is not desirable from an efficiency standpoint.  By imposing the quota, the government ends up creating a distortion in the market.  Note that the equilibrium quantity is reduced by 2 units (in this case, 2 million taxi rides).  It means that this market would have been able to attain two more units of transaction (taxi rides).  Hence the difference in the total surplus of the market represents the lost surplus (this is called the dead weight loss). The deadweight loss (a measure of the inefficiency of the program) equals $2 million dollars.

